New Maths GCSE: N1 - Ordering Integers

Which of the following statements is false?

45 > 39
I 109 < 100
99 < 1001

B 54>29

Which of the following statements is false?

254 > 198
B 302> 275
7001 < 6999

B 650 > 605

Which of the following statements is false?

3026 < 3194
B 2984 > 2752
5872 < 8023

B 4862 < 4286

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Place Value

Connie lists her scores from a video game.
14,087 13,345 14,613 14,301

Which list shows the scores listed from greatest to least?
14,613 13,345 14,301 14,087
14,613 14,301 14,087 13,345
14,087 14,613 14,301 13,345
13,345 14,087 14,301 14,613

70<n<90

Which of the following numbers
could be n?

92 B 63
@ 81 B 9

320<n <590

Which of the following numbers
could be n?

402 B 49

592 B 319

900 < n <1900

Which of the following numbers
could be n?

9100 B 2100

895 B 1050
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
Explanation:

Which of the following numbers
could be n?

_6 B 5 --------------------------------------------------------------------------
0 Bl 5.5 | e
Correct Answer: ABCD
What number is the arrow pointing to?
Explanation:
| | [ \ | I [ \ I
39,800 [ 40,000 40,200

A B
\ 39,950 " 39,900

‘C‘ | 1B
39,995 ° 40,050

Correct Answer: ABCD
What number is the arrow .
- Explanation:
pointing to?

20 T 20 P L
T o | | eeeee——
C) 25 D) 28 ... 4
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